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6. Connie wants a down payment of $1500 to buy new furniture for her
apartment 2 years from now. Her bank offers a savings account that
earns 6.0% interest, compounded monthly. What amount does she

need to invest now?
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1. A year ago, Ryan borrowed $5000 to pay for a new roof on his garage.

He borrowed at 7.25%, com |1ou11ded quanerly, for 2 years. He will
repay the loan in a single bayment at the end of the term.

a)

b)

<)

What amount will be due at the maturity date? How much of this
amount is interest?

Suppose that the term and the interest rate were the same, but the
interest was compounded annually. What amount would be due at
the maturity date? How much of this amount is interest?
Suppose that the term, interest rate, and compounding were

the same, but Ryan decided to make regular monthly payments
over the 2 years instead. How much would he end up paying
altogether? How much of this would be interest?
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4. Both Alex and Jamie have an investment portfolio.

a) Whart is the current value of each portfolio?

b) Who has the greater rate of return? Explain.

Alex’s portfolio:
* A 10-year $5000 GIC, purchased

9 years ago, that earns 2.6%,
compounded annually

* A 5-year $2000 CSB, purchased
4 years ago, that earns 3.1%,
compounded semi-annually

* A savings account at 1.4%,
compounded weekly, into which
he has been making weekly
deposits of $15 for 5 years
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Jamie’s portfolio:
* A 10-year $3000 bond, purchased

9 years ago, that earns simple
interest at 2.7%

* A 3-year $700 CSB, purchased

3 years ago, that earns 2.8%,
compounded semi-annually

s A high«intc‘rest savings account, at

1.7% compounded monthly, into
which she has been making monthly
deposits of $100 for 6 years
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UNIT TEST Simple Interest Rule of 72 and Rate of Return

Investina/

rowing $

Complete Open Response FIRST

Then complete Multiple Choice
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